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OB BX
9,620 ¥4 A| 2H+12 #2102 8,081
oYshZt & BX 76,9602 1% 100 7.6%
OR2IELsY 76,9602 22 %852 13,084
@p[=—== 80,0002 22 * 102 1,600
OnEY| 5,0002 x2H*2002 2,000
OZAH| 5,0002 x2H*2002 2,000
201 L2 32,419 34,072 A 1,653
01 AtR2r2(H] 16,176 17,667 A1,491
S0l A 16,176 17,667 A1,491
OB 2H] 12,996
OJI2AIREE ¢ 5,0002x2* 122 120
O=AIEX 7Y 305
-M 20,0002 * 104} X} 200
-A3 21,0002 +54¢ X} 105
oul2 2= 15,0002 x4 &+ 122 720




S
FE: IJEM 25 L 29
oel: BN 29 (S92 &2
~ = IoH oS! FoH =
SA - BB S9I(EN) - MRAL - BYS S cR HIDEY
Ogifziig 25 13,0002% 105+ 122 1,560
OZAZ 298E 7 3,731
“SHEA URIES (I, HEEE S)
100,008 122 1,200
-SYRNSE(7510) 2,22021%70}+ 122 187
=l 25,0002 #65F Ax1CH 150
“EAE 0B ARE (AU, g4 5)
120,0002 18 120
—RAREI| ARE(EH, EY)
250,0002* 18! 250
~HRIE ARE 1,574
HOIMERIE EH(E™Y M)
250,000 * 1CH*23] 500
-2 ERIE 23
30,0002 x4k 1 CH*43] 480
OIS B85 248 HelH o=
150,000 * 1432 450
TEN BTIIS 2| UM SN
6,00024 %20k 1224 144
-4 BBTJHIES(BII125H S)
250,0002 18 250
O=A=eIEE 7Y 1,670
-HIRE et (SHEH) 70,0002 32 210
-ENEEE NEX 90,0002 8= 720
-CASHEE(2E, B, BUHOIZ S)
700,000 700
HIEAXE Aol 4002 %1004 40
OTIHIB *2l 200,000 200
OMal % 222 M= 2,130
“SANLLBA S AT MA
11021%35+1,00004 330
-M0IS BIRE 1, 1002 *1,00004 1,100
—Sa0 50,0002 %84 400
-el83 S 15021%1, 00001 %25 300
OA& #2828 2,560
“EA g A= 200,0002*23 400
“MIEH (AT, oXt S) 300,000 =28 600
-HAIRQIAE X 2EHZCIAIAE 2|
130,008+ 122 1,560
oYxtE 3,180
OB 50,0002 <20 122 1,200
O37183)| 56,0002 +3CH 122 1,980
02 3324 14,683 14,675 8
20/ 4 14,683 14,675 8
03323 2 Al 12,363
O= Az ol 123
-SIREN2ES Aol
123,002 *13] 123




SN PRCAR
M DICMT HE U 29
el ZECAR 29 (cr9l: &g
S - BB BR(31) - NSAY - BES S SR b=
OISPIETE=; 1,000,000& 12 12,000
O bz 20,000& x12& 240
OAEEHIS XY 2,320
OENZALXI L ZSAAE X2
110,000 *12& 1,320
O M2 A X2t 1,000,000& 1,000
03 A2 1,560 1,730 A170
20 &t 1,560 1,730 A170
OB SHISIRNEHAH(E M2 =24
S) 730,000 730
OBlED| SA2ITEHA(SHS € S)
830,000 830
202 04| 300 300
01 2] 300 300
20/ & 300 300
O=2 04| 300,000 300
203 RF&d| 250 250
03 AIEXIQID=ZIH| 250 250
=0l 250 250
OYZORIOITAHR SRR
250,000& 250
301 Let8d=a 20,400 17,200 3,200
14 J|EI2 &2 20,400 17,200 3,200
=0 A 20,400 17,200 3,200
OSAEIE 28 2AIE
100,000& x 1Y *123= 1,200
ONSSSIZTZ ) LAIS
90,0003 x4 £t*403= 14,400
OXIJSALAL AHIE A
10,0003 x2H+202 x 12& 4,800
405 KHaHESHI 20,280 20,000 280
Al 10,000
- 10,280
01 T SEFHSHI 280 0 280
S0/ & 280 0 280
OdIoIN ZEg8le e 280,000 *1CH 280
02 =N 20,000 20,000 0
Al 10,000
- 10,000
S0 &t 20,000 20,000 0
Al 10,000
- 10,000
O%A 20,000,000& 20,000
Al 10,000
- 10,000
=AM 29 431,946 64,177 A32,231




SN PRCAR
M DICMT HE U 29
el ZECAR 29 (cr9l: &g
; 5 oy 311 2 0 44 -
SA - BB S9I(EN) - MRAL - BYS S cR HIDEY
Al 25,000
T 406,946
101 el A4| 105,003 111,862 26,769
A JIH2ERSES 105,003 111,862 N6,769
=0l &t 105,003 111,862 26,769
onza 29 105,003
OO0Clgl0lAt=d 29 X
76,9602 x 12 %2102 16,162
OZENRY 29 BX
76,9602 x 12 +2102 16,162
OBYOoR 2
9,6203 #4A| 2x2F*210 16,162
OFZ(E, ¢) i X
76,9602 x 12 %1102 8,466
ogs)R S 2 76,9603 x 12100 7,696
ORssgsrE 76,9603 x4 05 29,245
OHse 80,0002 x4 x 10 3,200
OulEH| 5,0003 43 =200 4,000
OzAll 5,000 x4 =200 4,000
201 ¢et2d| 248,123 245,225 2,898
01 At22telH 75,278 74,198 1,080
=0l At 75,278 74,198 1,080
OogLt=ZH| 68,378
OJIZARES 7¢ 5,000 68 » 12 360
O=AEAl 7 926
A4 20,0003 »40&f At 800
A3 21,0003 62 At 126
otz #= 15,0002 x255+ 128 4,500
Ogsztdls 715 13,0003 555+ 123 8,580
Oelg4l ATV 715 40,0002 %90+ 122 4,320
OAM2 2885 7Y 10,982
—HAMFHIGIZE, 01RA, SIEA)
500,000 500
-StEAl 2SS (SHEXl, BEES 8)
200,000 » 12 2,400
-SENSE(751) 2,2203+4001x 122 1,066
-g=J1Z 25,0003 »6 = A+3CH 450
“EANZ 0l ARS(AUE, g 5)
500,000& *12] 500
-SAEEI| AZE(EH, £8)
250,000& *12] 250
-OElH 423 4,776
clOIMEZElE EU
300,000 x42H4 %11 »23] 2,400
3|@E £8E g cl=
150,000 »4CH+32 1,800
A E12 £0| AMEX
6,000 ~8CH» 122 576




SN PRS2
HIM: DRCMD EE L 2%
e ZRC MY 29 (el &2
_ - +OH Shs| FOH =
SA - EH - CR(B) - NRAY - BaS S cR RS2
-E1=201, I 2 2
20,0002 *27H* 13 40
-2 BAFHISE(ZIIEHA S)
500,000 %23 1,000
Ods = 292 7
50,0002+ 12¢4 600
OSMNEeI2E 7¢ 3,660
-HIDE 2t (SEE) 70,0002 32 210
-HISAXIE HOIA 4002 +1,0000H 400
-RFID BN 40024 %2, 0000K 800
-AFID B B35 8 oty 50:24%3,0000H 150
-CNE5E AEX 90,0002 %102 900
—CAAMEE(2E, Z, 2UHOIZ S)
1,200,000 1,200
OTIILIZE £2] 400,000 400
OMNAl U 282 HIZ 3,300
—BIAINAAEM S 2AE MA!
11024 %105 *1,0000H 1,100
-39S 1,100=24*1,0000H 1,100
-0 50,0002 *10H 500
2|23 S 15024 *1,0000H *43] 600
OAE 242 15,390
—HAb 2 AS 300,000 #53 1,500
-HIEHAT, QX 228 S)
1,500,000 13} 1,500
~ED|OMBE| CHEH (DO
300,000 * 122 3,600
52| orMBe| (HE
180,000 * 122 2,160
-52D| OFMAAL 130,000 %13 130
-293 HA 350,000 %23 700
~ZAIDEA ZAL 60,0004 %13 60
—HAFROIZAHl 2 ZEHZRIAIAE 2
215,000 * 122 2,580
~ABAIA OFE IR CHEH
180,000 * 122 2,160
—“AEAIE BE)|ISEA
500,000 *13] 500
—AEAlE B EUFA
500,000 *13] 500
ORET AT SAEIE P20 2(7
oH2) 15,360,000 15,360
oYxz 6,900
O& 3D 50,000 %3CH* 122 1,800
OZIIEFD| 55,0002 *5CH* 122 3,300
ouldl 25,0002 *6LH* 122 1,800
02 222 166,845 165,027 1,818
S0 A 166,845 165,027 1,818
ozZze=2 2 HA 33,375




SN PRCAR
M DICMT HE U 29
el ZECAR 29 (cr9l: &g
SH - B S9(3H) - NRAY - BES S SR HIDS2
O= M2 &3yl 423
St MZES A3
123,000& 18] 123
~ZREARECS el
300,000& *13] 300
(OISPIETE=; 2,000,000& x12& 24,000
OSAIIIA ABZE 400,000& x12& 4,800
Oidt=E23 300,000 *12& 3,600
O bz 20,000 x2CH*12& 480
OS2I HIANSIRS 6,000& 122 72
OAIEEHIS XY 133,470
OENM=AYXID| & FXl2el
65,0003 =130+ 12& 10, 140
OROINAHESLIHAIAE S gXI22]
230,000& x2CH*12& 5,520
OEAMZ FAL S22l 4,000,000 4,000
Odue)| sXl2e| 1,000,000& 1,000
Os2I| |2 1,000,000 1,000
OLgAdE SR 1,000,000& 1,000
O22e RX=e| 1,000,000& 1,000
OHFII&H| sX2el 1,000,000 1,000
(@F=Fne=acia]l 108,810,000& 108,810
03 A2 ZH| 6,000 6,000
S0j &t 6,000 6,000
OABD| SASIFEE HAHZHZ F2F
s) 3,000,000& 3,000
O5ED| SASIFEE HAHSAHL &
AL S) 3,000,000& 3,000
202 O4H| 600 600
01 =LHO4 L] 600 600
20/ & 600 600
o220yl 600,000& 600
203 FRF=EH| 450 450
03 AMEFRHLFXIY| 450 450
201 & 450 450
Ol==M2 ZRFA 450,000& 450
301 LetE8dZ 40,680 34,040 6,640
14 J|Et2 &3 40,680 34,040 6,640
20 &t 40,680 34,040 6,640
O=AEE 258 ZAl=
100,000& x 1 *123] 1,200
ONRITIEZz ) 2=
90,0003 x82 £H*405= 28,800
O=A3l ZAMZ 90,000 x 19+ 123 1,080
OXES AR Al 24
10,0003 x4 =202 x 12& 9,600
405 RHaHESH| 37,000 72,000 A35,000




SN PRCAR
M DICMT HE U 29
el ZECAR 29 (cr9l: &g
S - BB BR(31) - NSAY - BES S SR b=
Al 25,000
- 12,000
02 TN 37,000 72,000 A35,000
Al 25,000
- 12,000
=0 A 37,000 72,000 35,000
Al 25,000
- 12,000
O%A 37,000,000 37,000
Al 25,000
- 12,000
IEE N2 2Y 218,339 264,657 246,318
Al 15,000
- 203,339
101 @I A4H| 48,603 50,302 A1,699
M JIZtH22sE+ 48,603 50,302 21,699
20 & 48,603 50,302 A1,699
OXza 29 48,603
OBt BxX 76,9603 *1H 210 16,162
OELOoR B
9,620 *x3A[ 2Hx1H *210Y 6,061
ogs|t 5 X 76,9602 *1% %100 7,696
ORa28d+Y 76,9603 «2H +85 ! 13,084
OJEY 80,000& x2H 102 1,600
OunsH| 5,000& »2Y *200! 2,000
O3A| 5,000& x2%*200! 2,000
201 et23H| 111,976 138,995 A27,019
01 At=222teltl 32,637 56,872 A24,235
=0 A 32,637 56,872 A24,235
ogst=2H| 28,917
OJI2AREE 7 5,000& *4H «12& 240
O=AMEX 7 400,000 400
QRZ A= 15,0003 55+ 12E 00
Ogf2tdlE A= 13,0003 x 158128 2,340
OPelgull 1V 2= 40,000 #2Jl* 123 960
OEM2 283E2E F& 6,337
—StEA 22|22 (&I, SHEES S)
150,000 *12& 1,800
-SEHNSE(751) 2,220 =200+ 12& 533
20|12 25,0002 x68F A #2CH 300
-S2tA=D| A 50,0002 *3CH*23] 300
“EAR 0IE AZE(AUE, M S)
250,000& *13] 250
~O2lY ARE 2,594




IYZANB
TTEAZ HE Y 2
TN 2% crel @ el
5 kol SIE] FOH -
SA - - O3 - KIRA - B S N s2
R NPECENEE
250,000 *1CH*43] 1,000
- B0 ZIE EY
250,000 *1CH*43] 1,000
0|3 slez FH8 Ty 2=
150,000 *1 CH<33 450
A BTIIE B2 AMNEX|
6,000 +20H+ 128 144
-E1201, 71, DIl AH2D| A
20,0003 +3H*13] 60
A BARHIBB(2IILHA S)
250,000 22 500
OZAH2IBE 7Y 2,720
-RFID B4 4003 +2,0000HK 800
—-RFID B ESAEIAH 502 %3, 0000K 150
-HIZAXIE HolA 40024 x30071 120
-ENESE AEX 90,0002 +55 450
~TASHBE(2S, B, 2HHOIZ <)
1,200,000 1,200
O&II HIE ==cl 400,000& 400
OTAZ A% 29 M2 7
100,000& x 122 1,200
OMsII® 2218 =24 M= 7Y
100,000 6 600
OAAl & 282 MIX 3,010
SlRIILMEA S 2E HA
1102 %115+1,0000HK 1,210
-H0I8 2ES 1,1002*1,0000HK 1,100
B4t 50,0002 5871 400
2183 S 15024%1,00004%23 300
OAE +48 9,570
“HA g A 210,000 *43) 840
-NIgH (AT 2R S) 400,000 »22] 800
~HAIROIAE] U 2E ZRIAAE 22
240,0003 x 122 2,880
~ASAIY oX R
140,0002 x 122 1,680
-dD| erMae| CHE 120,000& x12& 1,440
-S| orEERl e
150,000& ~12& 1,800
-S| A HAL 130,000 %13l 130
OZMZ & Z2TAIsl HE =bi|
20,0003 %122 240
iz 3,720
OB 50,0002 *2CH* 128 1,200
ol 25,0003 %401 =122 1,200
O3J1E=)| 55,0002 x20H 128 1,320
S322H| 74,839 75,623 AT84
A 74,839 75,623 NT84




SN PRCAR
M DICMT HE U 29
el R2RTAD 2 LR
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
02222 < HMA 19,935
OEA2 E3lH| 423
St MZE S A3l
123,000& *13] 123
~AIEHAE N AE 2G| HFHI
300,000 *13] 300
OMIIe=2 900,000« 12& 10,800
OZAIJIA AFBZE 1,300,000 ~6& 7,800
ONGlERZ2 70,000 x12& 840
Osd)| BIaEE 22 6,000 x12& 72
OA&EEH|ISX Y| 54,904
OSAMZAXD| & AdSAIAE S
150,000& = 12& 1,800
OEME HA S22 2,500,000 2,500
OFEAEZ9H| 50,604,000& 50,604
03 A2 HH] 4,500 6,500 A2,000
=20 A 4,500 6,500 A2,000
OAB| SASIIEESHAI 2 (A
F24 5) 2,000,000 2,000
©Oodtet)| SARIIEEHA 2H(S MY
g 5) 2,500,000 2,500
202 04| 400 400
01 Z2LHAH Y] 400 400
=0 A 400 400
o220yl 400,000& 400
203 L RF=EH| 360 360
03 AIZE=RIHRFAY| 360 360
=0l A 360 360
OJIEHO A2 HRFA 360,000 360
301 LEEN= 30,000 31,800 A 1,800
14 JIEIE A2 30,000 30,800 A800
S0l A 30,000 30,800 A800
O=AEIE 25 2AI2
100,000& *1H* 12 1,200
OUWEIEZ ) A=
90,0003 x6 & E£F*403= 21,600
OXNJSAF AHIB A=
10,0002 *x3H 20U« 12& 7,200
405 KHAMSSHI 27,000 42,800 A 15,800
Al 15,000
- 12,000
02 =A2b] 27,000 22,000 5,000
Al 15,000
- 12,000
S0 A 27,000 22,000 5,000
Al 15,000
- 12,000




SN PRCAR
M DICMT HE U 29
el ZECAR 29 (cr9l: &g
. . rou 1 0f ar .
SH - B S9(3H) - NRAY - BES S cR HIDS2
O M 27,000,000 27,000
Al 15,000
- 12,000
sa1sEM2 29 227,757 228,998 21,241
Al 15,000
- 212,757
101 1244| 52,643 54,698 A2,055
M It 22 sSE s 52,643 54,698 A2,055
S0 &t 52,643 54,698 22,055
OXt=z4 29 52,643
Ogad=x2t BX 76,9603 * 1210 16,162
OELOoR B
9,620 & *x5A| 2Hx1H+210L! 10,101
ogshlIZt 5 X 76,9603 *18 100 7,69
OResdsg 76,9603 x2H 852 13,084
oY 80,000 x2H+10& 1,600
Ou S| 5,000 x2% x2002! 2,000
O=4ltl 5,000& »2F 200! 2,000
201 Ler23d| 116,274 113,400 2,874
01 At22teltl 34,224 32,485 1,739
20i & 34,224 32,485 1,739
oget=2H| 29,184
OJIZ2ANRES +¢ 5,0002x4H«12& 240
O=AEX 7 400,000 400
Ovlz = 15,0002 x55+12& 900
Of2ts A= 13,0003 x155+12& 2,340
OHIEAMXtZ (0w, ) +
20,0002 x30H12& 720
OZAN2 2882 722 6,754
—StEA 22|22 (A, SHEEE S)
150,000 «12& 1,800
-EEMNSE(T51) 2,220 *3001* 123 800
-320|18 25,0003 48 A «3[H 300
—EAME 018 ARE (AU, ¥4 S)
250,000& *13] 250
-IAEBI ARE(EH, EH)
250,000& *13] 250
-O2ly ARE 2,814
-HOIMERIH EWH(ESE L)
250,000 =2CH*33] 1,500
EEDIEH A3 30,0003 x4 M4 +63] 720
OB 2RAE =88 Zely 2
150,0003 = 1CH*32] 450
e N R0 E8D| AIMEX
6,000& =20+ 128 144
-E=21, #I1 WXl 20,0002 x2Jl*13] 40




SH: PRCAR
M ZZCAB EE Y 2
el SSEAE 29 (chel &2
SA - B O9(SH) - NISAY - BES S SR HIDS2
Nea SEEHISE(ZIIZHA S)
250,000 %231 500
OEME2ISE 7Y 3,250
SHISMXIE HOIA 002 5007M 200
-RFID EiD 40024%2,0000H 800
DB S8 2 502300004 150
~CNEEE AEX 90,00021* 102 90
CNAEBE(ZE, E, 20T )
1,200,0002! 1,200
OMAl 2 S22 J= 3,310
SBIIYABA S UE HA
1102411251, 0000 1,210
N EEEE 1, 100241, 00004 1,100
~si40t 50,0002 4804 400
2|=3 = 15021 «1,00004 43! 600
O%AE 442 9,770
SEAL g As 250,000 %431 1,000
-HIEH(AD} OX S) 400,00021%23! 800
N ER-PY 200,0002!%23] 400
~FIloHE B2| CHa 20,0002 122 1,440
SHARROIZH| U DEBRIAIAY B2
230,002 * 12 2,760
~520] orE Bl Cf
150, 00021 * 122 1,800
~520| OHEZ A} 130,0002!+13] 130
—ASAIE orE B2l h3
120,0002!* 128 1,440
OFIIHIE 22 300,0002! 300
OSAZ 28t 2% S Y27
50,0002 122 600
OMsSII® Z20e 22 HE 2
00,0002 62 600
oxa 5,040
Or-ES] 50,0001 *4CH* 122 2,400
E=SIEEPl 55,0002 *4CH* 122 2,640
2 2zl 77,550 76,415 1,13
=0 77,550 76,415 1,135
ozzZ22 ¥ HAl 20,655
OSM2 Halt| 123
SR ARES oal|
123,0002!*13] 123
OFJI23 1,200,0002!* 128 14,400
OZAIIA ABE 650, 000216 3,900
ONBIEERS 160, 00021 * 122 1,920
O 242 20,0001+ 122 240
Oz HAEE 22 6,000 122 72
OIS RIS 56,805




SN PRCAR
M DICMT HE U 29
o2l ISEAS 29 (e
S - B S2(B) - NISAY - BAS S SR HIDS2
OZNZALRD| & ZSAIAE KX
150,000 =123 1,800
OEAMZ FAL S22l 2,500,000 2,500
O&EAZEAH| 52,595,000& 52,595
03 A2 ZHI 4,500 4,500
=20 A 4,500 4,500
OAED| ENSHTSHA(CAHB %2t
s) 2,000,000& 2,000
OdtE)| SARIXEHA(SML & S)
2,500,000& 2,500
202 04dl 400 400
01 =i L] 400 400
201 & 400 400
O&2/0y| 400,000 400
203 ZR=&H| 360 360
03 AMEFRHRFXIY| 360 360
20l & 360 360
OsalsTAN2 RFX 360,000& 360
301 Let8dZ 31,080 29,640 1,440
14 JIEI2 &3 31,080 29,640 1,440
20/ & 31,080 29,640 1,440
OSAEIE 28 2AIE
100,0002 x1H x 123l 1,200
OQUESZEZ ) 2AIZ
90,000 x6& £+40== 21,600
O=AN3l ZAZ 90,000 x 19+ 123 1,080
OXH2S AR Al 24
10,0003 *3E =20 x 12& 7,200
405 RHaHESH| 27,000 30,500 A3,500
Al 15,000
- 12,000
02 =AY 27,000 27,000 0
Al 15,000
- 12,000
201 & 27,000 27,000 0
Al 15,000
- 12,000
O M 27,000,000 27,000
Al 15,000
- 12,000
s3sEA2 2F 233,735 226,255 7,480
Al 15,000
- 218,735
101 21244| 52,643 54,698 22,065
M IIZHNZ22NSES 52,643 54,698 A2,055
20/ & 52,643 54,698 22,065




SN PRS2
H: DRCMZ 2E L 29
Ce: 2R M 29 (EERE
% ~ koM S |5 O 0] Ao =
SH - B S9(3H) - NRAY - BES S cR HIDS2
oxza 29 52,643
QU= BX 76,9602 x 124 %2102 16, 162
OmAQIF BX
9,620 *5A] 2H+124 %210 10,101
oYshIt & 2x 76,9602 x 124 %1002 7,69
QI=E=1-1-TEN=; 76,9602 224 %8521 13,084
OEY 80,0002 2% * 102 1,600
OnEH| 5,000 x22 %2002 2,000
O2 Al 5,000 x22 x2002 2,000
201 LBty 120,852 117,337 3,515
01 AtR22ld] 34,672 33,492 1,180
S0i| A 34,672 33,492 1,180
OIEIES=4a] 29,032
OJ|=2M28E 12 5,000 4%« 122 240
O=AMEX 7Y 463
-M 20,0002 *20 Ak Xt 400
-A3 21,0002 *3A¢ X} 63
okl = 15,0002 x5S+ 12¢ 900
OgiE2isie 1= 13,0002 * 155+ 122 2,340
OQIE LI HTY R= 40,0002 %300 * 122 1,440
OEMZ 298E ¢ 6,907
-SIEA RIRE(SEX, HEEE S)
150,0002! * 12€4 1,800
~EAUNESE(751) 2, 2002 %200} * 122 533
“H2J|H 25,0002 *8E A +3CH 600
—CNZ 02 ARE(AUE, g4 )
250,000 *13] 250
—BAIESE)| ARE(EH, &™)
250,000 *13] 250
-IRIE AQE 2,574
- YOINERIH EH(CSY YME)
250,0002! *2LH*33] 1,500
CEEDRIH 23
30, 000 #44Hx 1 [ x43] 480
CEHO|2 3RS BUE Tl 2=
150, 0002 *1CH*33] 450
CEA APIS 52| AMEX
6,000 x20H* 122 144
-EH=21, 2I1 WA 20,0002 *20H*13] 40
-2 Al SAFHIEZ(ZIILHM S)
250,000 %23 500
-HEISSIE IS4 DA
20,0002 *3CH*63] 360
OEMAEZIZE ¢ 3,250
-HIZMXIZ AH0IA 40024 %5004 200
-AFID BN 4002+2,0000K 800
FFID B0 252 o 502%3,0000H 150
-CNE5E AEX 90,000 *102 900




SN PREAR
M DICMT HE U 29
e SSEME 2 (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
-CAEAEE (R, 2, 2dH0IE S)
1,200,000& 1,200
O&IILIE =2l 400,000 400
OMsII® Z208 g 7Y
00,0002 462 600
OMAl & 292 MX 2,342
SN S AE KA
110& *11Z+20000 242
0|8 IS 1,100& *1,0000H 1,100
-0 50,0003 *8IH 400
-2lEx S 1502 *1,00001*43] 600
OLE =8 9,650
A S A S 220,000 *43] 880
-MIEH (AT X S) 400,000 *23] 800
~&J|otA 2] CHEH 120,000& *12& 1,440
20| orEBR) T
150,000 *12& 1,800
-S| HEBAL 130,000 18] 130
=283 A 200,000& *23] 400
-HAIR01AH] & Z2E 22 AIAE 2el
230,000&=12& 2,760
-AYAIE ord 2| CHE
120,000 x12& 1,440
Oogsti|2t oHelol SAnE 29 500
-z 2 10,000& x20H 23] 400
-0 50,0003 *2IH 100
oYxt=z 5,640
O&=D| 50,000 *3CH* 123 1,800
O3JI1EED| 55,0003 #4CH* 123 2,640
Odld 25,0002 #4CH*12& 1,200
02 2323l 81,680 79,345 2,335
20 &t 81,680 79,345 2,335
o0=3x2a ¥ HA 22,985
O= M2 83yl 173
St M3 HIHI
123,000 & 18] 123
-l N2Es RSZE 23 HH|
50,0002 *13] 50
(OISPIE=E=; 1,400,000 = 12& 16,800
OZAIDIA AIBE 650,000 x62 3,900
Oadt=ER23 150,000 «12& 1,800
O bz 20,0002 123 240
O HIANS 22 6,000& x12& 72
OAIEEHIS X 58,695
ORFID AIAEN S22 300,000 =123 3,600
O M2 HAF X2t 2,500,000 2,500
OFAZ9H| 52,595,000& 52,595




SN PRCAR
M DICMT HE U 29
e SSEME 2 (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
03 A2 ZH| 4,500 4,500
=0 4 4,500 4,500
OAD| SH2TSHA(CAHZ T2
S) 2,000, 0002 2,000
OB SHSHTSHA(SHY & <)
2,500,000& 2,500
202 O4H| 400 400
01 =LH4B] 400 400
201 & 400 400
o220l 400,000& 400
203 FRF=&H| 360 360
03 AEFRHLRFXIY| 360 360
20/ & 360 360
O3NS RFX 360,000& 360
301 LetE8dZ 31,680 26,460 5,220
14 J|Et2 &2 31,680 26,460 5,220
S0 &t 31,680 26,460 5,220
O=AEE 225 ZAl=
100,000& x 1 *125= 1,200
ONRITIEZz ) 2AE
90,0003 x62 £*403= 21,600
OS2t Helol SAuA 2AZ
100,000 *3H *23| 600
O=AN3l ZAZ 90,0003 x 19+ 123 1,080
OXH2S AR Al 24
10,000 *3H =20 x 12& 7,200
405 RHaHESH| 27,800 27,000 800
Al 15,000
- 12,800
01 L SEFH S| 800 800
20/ & 800 800
O=Z2IH P () 800,000 *1CH 800
02 SA7HI 27,000 27,000 0
Al 15,000
- 12,000
S0j &t 27,000 27,000 0
Al 15,000
- 12,000
O%A 27,000,000& 27,000
Al 15,000
- 12,000
HICtEM 2 2 834,182 0 834,182
Al 70,000
- 764,182
101 l24d| 48,603 48,603
M II2tH22sE 4 48,603 48,603




SN PEEAR
HH: DICAD HE L 2Y
Cell ZREDANP 2% (e @
. 5 o 1 = 0f dr ~
SH - B S9(3H) - NRAY - BES S cR HIDS2
=0lat 48,603 48,603
oz 2 48,603
OEg=x:2t BX 76,9603 *1H*210 16,162
OBAR BX
9,620 *x3A[ 2Hx1H *210Y 6,061
ogsh)t 8 BX 76,9602 *18 %100 7,696
oszsysy 76,9602 %221 +852 13,084
ONELg 80,0008 %22« 102 1,600
(@ImE==1s] 5,000& »2Y 200 2,000
O2Al| 5,002 %224 52002 2,000
201 et2AH| 113,960 113,960
01 At222teltl 49,981 49,981
=0 A 49,981 49,981
oYstAgH| 32,049
OIZASEE Y 5,000 +42 % 122 240
OSAEX 7 463
-M 20,0003 x204¢ Xt 400
-B83 21,0003 *3AF Kt 63
Oodlg = 15,0003 55 +62 450
Og=s2HE A= 13,0003 155 +62 1,170
OSAZ 2982 1Y 6.317
-BIEA BRIRE(SIE, HEEIE S)
150,000 x0& 1,350
-SENEE(751) 2,220 =130+ 260
~H A0 25,0002 x38 A+3CH 225
“EAZ 0l ARE(AE, ¥ 5)
250,000& *13] 250
-O2lY ARE 3,692
YOIMERIE EH(SY AHE)
250,000 =2CH*43] 2,000
- zejmay 93
30,000 x4 %1 CH+OE 1,080
S HO|S BeE s Dog 2=
50,0002 *1CH*33] 450
SN BPIIE 20| AHEX
6,000 *3CH+9E 162
-E=21, I 20,0004 =2 x 13 40
NBA BABHSE(ZILHA =)
250,000& *23] 500
O&MEelsE 7Y 13,870
-RFID i 230 *22,0000H 5,060
-RFID B0 BsE 2t 553 *22,0000H 1,210
-BHag9= 250& x22, 000 5,500
-CENESE AMEX 90,000& %102 900
EHAHBE(2C, Z WO S)
1,200,000& 1,200
OEAZ 28t 29 £ Y27
100,000 x5 500




SN PRICHB
I ZITA 5 L 29
el SSEAE 29 (chel &2
S - B - O9I(31H) - HISAY - BES S S HIDE
ONAl & 228 M 3,805
—SIRATIAUMEA S AE A4l
11024 %11Z 50004 605
-M0IS FRE 1,1002 *2,0000H 2,200
-S40 50,0002 *87H 400
2123 s 15024 %1,0000H*43] 600
OAE 48 5,234
-HA S AS 300,0002 %23 600
243 HA 200,000 %13 200
~HAIRQIZHH| & ZEHZRIAIAE 22|
246,000 9 2,214
—HI|orM 2R CHE 120,0002 6 720
-S| otEBe| HE 150,000 *62 900
—AEIAlA ohE PR CHE
100,000 6 600
OAZEN 2 11,707
Ost2 Tz 250,0002 % 1674 4,000
OQA D2 @ 420,0002 % 16H 6,720
OEot AT EY0{(V3) 35,2002 % 16K 564
OAAEIZ2] ATEY O (GHEZ0H)
52,8002 *8H 423
oYxtz 5,625
OFAD| 50,0002 x4 CH*92 1,800
@E=plE-F<bl 55,0002 *5CH*92! 2,475
ol 25,0002 +6CH*9 1,350
Of=y=E=; 600
OAZEQN UAAARF| £
100,000 32 x23] 600
o S22 61,479 61,479
20 At 61,479 61,479
02222 ¥ HMAl 19,707
O= A2 3l 123
-2 M Al
123,0002 %13 123
O 1,200,000 92 10,800
OZAIDIA AtEE 800,000 9 7,200
OMBIEER2 150,0002 *0™ 1,350
OV4l2 20,0002 x92 180
OZYI| HINEER3 6,000 92 54
OAl & EHI S XIHI 4,772
OBARAY]| 41,772,000 4,772
03 BAL2 2,500 2,500
20 A 2,500 2,500
OBtE| SNEEREEAL 2,500
OBtE| SMSEREEAL
2,500,000 2,500




SN PRCAR
M DICMT HE U 29
el ZECAR 29 (cr9l: &g
S - BB BR(31) - NSAY - BES S SR b=
202 04| 400 400
01 =LHO4b] 400 400
S0 &t 400 400
O22 04| 400,000 400
203 R=&H| 360 360
03 AMEFRH2FXIY| 360 360
20t 360 360
ObtttEM 2 ZRFX 360,000& 360
301 et Z 8,000 8,000
14 J|Et2 &2 8,000 8,000
S0 &t 8,000 8,000
OXISAAL AHIE4
10,0002 x4Z 2024 x10& 8,000
401 AIEHIZ2UIYI 70,000 70,000
01 AI&HI 70,000 70,000
20 & 70,000 70,000
O M2 ARI2 MIE & &X| 70,000
OAHEZ ARIZ 52,000,000 52,000
OXZ &l Ael=2 18,000,000& 18,000
405 RtaHESH| 592,859 592,859
Al 70,000
- 522,859
01 ML 2EFH S| 322,859 322,859
=0 A 322,859 322,859
OEAM& Xts3 &El 2L 74,350
CA HEeED(Leraal)
24,000,000 24,000
OXtg a8 XD| 16,000,000 *2CH 32,000
ORFID AFME 2IE/2H0IE D]
2,650,000 *3CH 7,950
OFMEZD| 5,800,000& 5,800
OHIRE ZglE )| 1,300,000& 1,300
Otz A1 200,000 & *3CH 600
OltgZM JxZ5 2|
300,000 & *3CH 900
O3AE <=1 1,800,000& 1,800
oftza 23 J|J| 25,400
otAaas &EH 1,000,000 = 12CH 12,000
OYE ZLIH 200,000 = 12CH 2,400
oYl oz M E 3,000, 000:& *2CH 6,000
OMASI| 5,000,000 5,000
OMEE HIZ 6, 140
OLE=SZ&EEH 1,400,000& 1,400
OZMAMIED| 900,000 900
Ogadigld 640,000 640




SN PRCAR
M DICMT HE U 29
el ZECAR 29 (cr9l: &g
S - BB BR(31) - NSAY - BES S SR b=
OdZED 800,000 & *2CH 1,600
O&IBEAD| 400,000 400
(OFSPATE 1PN 100,000 *3CH 300
O=4H 8IZXMAD| 900,000 00
OJt7 &7 7 216,969
OMIHHIZ) 100,000,000& 100,000
OW=E HOI2 & I T=sHA)
14,070,000 14,070
OWALE A L O %} 799,000 799
O0elol Xtzal At 22,99%,000& 22,996
ONEloINtZ A SEH0IZ2 & 2AXt
2,787,500 2,788
O MBI & S0 4,907,000& 4,907
OMEE(102I8) & AYH
1,770,000& 1,770
O SAAA HOIZ & 2Kt
2,772,000 2,772
O&EME2lE MOt 2,435,500 2,436
OY R0t A=A MOt 14,866,000 14,866
OZ=0F Ar=4 HIOIZ & A0t
4,333,600& 4,334
O=%=4 I3 2,406,000 2,406
OLBtXtg 4l MOt 16,491,200 16,492
OH2E| 430,000& *4CH 1,720
Ogutiti=zal &HIOIE & oIk
16,767 ,000& 16,767
OARE 4 210,000 & *4CH 840
OMEE 2kt 180,000 & *7CH 1,260
O0ls ME&((3H) 110,000 *7CH 770
OMBIK (4=, 2=01) 540,000 & *3CH 1,620
OLElA 2,290,000 2,290
OJ3&E Y oKt 1,066,000& 1,066
02 =AY 270,000 0 270,000
Al 70,000
- 200,000
20 & 270,000 0 270,000
Al 70,000
- 200,000
O M-I 270,000,000& 270,000
Al 70,000
- 200,000
SHE2TAZ 29 67,124 0 67,124
101 @I24H| 27,503 0 27,503
M II2tH22sSE 4 27,503 0 27,503
20i & 27,503 0 27,503
OXt=z 4 2% 27,503




SN PRCAR
M DICMT HE U 29
el ZECAR 29 (cr9l: &g
. . rou 1 = 0 .
SH - B S9(3H) - NRAY - BES S cR HIDS2
oJl1ea 76,9603 * 1230 17,701
Osa28dY 76,9603 x1H 85! 6,542
OF) ==t = 80,0003« 1+ 123 %60
Ou sl 5,000& 19 #230! 1,150
O=2altl 5,000 x 124 %230} 1,150
201 Let23d| 19,621 19,621
01 AtS2teltl 6,621 6,621
S0j &t 6,621 6,621
ogst=2| 5,571
OZE A= 15,0002 x5&*10& 750
Ogf2tdlE A= 13,0003 *105+ 102 1,300
OZAN 2888 72 1,746
-SEMNSE(7510) 2,220 701 = 10& 156
-0|123 25,0002 x68F A« 1CH 150
-EAE 018 ARE (AU, g4 S)
120,000 *13] 120
-OglH ARE 1,070
-H0IMERIH EH(EE 2HE)
250,000 *1CH*23] 500
MO ARE EZEE TglY el=
150,000 = 1CH*33] 450
SN BF0IS 2| UMEN
6,000 *2CH*10& 120
-Azd SAFUIEZ(SIIEHM S)
250,000& *13] 250
O=NE2IEE 7¢ 1,775
—-RFIDEH 2302 *1,5000H 345
-HIZE Y (SEEH) 70,000 *38 210
-CEAESE ANEX 90,000 x82 720
-TASEES (2, 2, sdHOIEZ S)
500,000 500
oYXtz 1,050
O&F=D| 50,0003 *1CH* 103 500
O3I18 3| 55,0003 *1CH* 103 550
02 2323l 13,000 13,000
S0 &t 13,000 13,000
O0=323H| 13,000
OoMII2 800,000 = 10& 8,000
OZAIIARZ 500,000& *10& 5,000
405 RHaHESH| 20,000 20,000
02 =AY 20,000 20,000
20l & 20,000 20,000
O M7l 20,000,000& 20,000
HY2AZH(PE A Z) 2,049,671 1,938,195 111,476
ol 2| 1,936, 161 1,807,925 128,236
ol 2| 1,936, 161 1,807,925 128,236




SN PYEAR
A WHSAAH(PYTAD)
Cil: oleiea| Col e
S - HH . O9(3) - HISAY - BA= S S =2t
101 1A 1,883,001 1,757,885 125,116
0 B4 1,370,493 1,263,047 107,446
=0lar 1,370,493 1,263,047 107,446
OLBH=, 960, 260
OS2(4UBH o2)  85,820,00081% 85,820
062 (25 ) 4,129,000 424 %122 198, 192
or2(172L) 3,440,00021x7 % » 122 283,960
O83(852) 2,400,000 %92 » 122 259,200
093 (352) 1,779,000 462+ 122 128,088
OEN="} 114,817
oUez2e + 11,067
52 U 4,285, 7002 %22 x4 1%+ 122 4,218
62 U2 3,479, T00R*4% x4 1%+ 128 6,849
OF2+g 874,440, 0002 %1/12450%+23] 72,870
OF24Y Itz 11,640
5 0l4F 1044 OIBF  50,00021*72*122 4,200
-10& 0I4+ 154 D]t
60,0002 %32 * 122 2,160
155 0l4F 20 Djet
80,0002 %32 * 122 2,880
20 014t 100,00024 %224 » 122 2,400
OJ=m2g 12,000
S 40,0002 %10%» 122 4,800
~SRUIIE(RR, FMAIL)
20,00021%13 * 128 3,120
-SUAINE(SMIHA)
60,0002 x4 * 128 2,880
-SRI (AMIHA)
100,00024 %12 122 1,200
OS0tEH+Y 1,400,000 2% 2,800
Op/E=r-1=RS=" 480
-82 015t 20,0002 x22 %122 480
OJleF B4 JHa2 600
DISE, JIAI2) 30,0008 1122 360
= PINI=) 20,0002 12 %122 240
OS+E 24 3,360
R 20,0008+ 14 128 3,360
OFAUZAL| 140, 00024 5272 » 122 45,360
OYHEIIHI(SZH M)
874,440,000 1/ 1246023 87,444
Ot A
960, 260, 00021 »1/12586%/30% 10 22,940
ONEIEIES=, 12,3212 %262 35A| 24+ 128 134,546
OHIA2D AlRtelag
12,321 215262 =4 Al 2Hs42 )| 5,126
03 BRE(DIIHY) 2224 512,508 494,838 17,670
=0lar 512,508 494,833 17,670




SN PRCAHR
HE: MESAH|(RUCHD)
o olg I (Gt &
S - BB BR(31) - NSAY - BES S SR b=
o2 = 512,508
oJleg (2s8) 3,081,920 x8H = 12& 295,865
oFz+Y 3,081, 9202 x50%+8H 23| 24,656
OF 2oz 80,000 x8H +12& 7,680
OEY 120,0002 x8H x 12& 11,520
OJls&¥d=+=< 20,0003« 19«12 240
Ottla=| 50,0003« 123 4,800
OF M= AlH| 140,0002 x8H x 12& 13,440
OXREZH| 115,000 »8H *12& 11,040
Oz 60,0003 «8H =123 5,760
OYEZ It 3,081, 9203 x8H »60%*23| 29,587
O x4 152,000& «8ZF * 10 12,160
OAlIZtel=g
19,0002 1.5+35A| 2++8H « 123 95,760
204 2R AH| 53,160 50,040 3,120
02 AZa2 x| 53,160 50,040 3,120
S0 &t 53,160 50,040 3,120
CEELES:] 53, 160
O5=2 250,000& x 1« 12& 3,000
O6= 175,000 x4H « 12& 8,400
or= 165,0002 x7H +12& 13,860
08=, 9= 165,000& 15 = 12& 27,900
f=gls]l 113,510 130,270 A16,760
J|=23l 113,510 130,270 16,760
201 LEt23d| 50,250 48,190 2,060
01 AtR22teltl 50,250 48,190 2,060
S0 &t 50,250 48,190 2,060
Oget=Z| 3,690
OJI2AREE 7 5,000& Y 12 360
OJ1=E8 HEgE 7 150,000& 150
Otz 7= 15,0002 x35+12& 540
O=AMEX 2 20,000 824t Xt 1,640
OZe{Zely 23 2
250,000 3 #4458 %13 1,000
=] 46,560
OJ|2gRF8 2|
8,000 x27H 15« 123 38,880
Ozex(2I|e) 22|
8,000 x8 10 x 12& 7,680
202 O4d| 50,160 69,600 219,440
01 2L 50,160 69,600 19,440
=0 A 50,160 69,600 219,440
OZLHE=Z NI 50,160
OISR 2UHEE0YI
20,0003 =27 P x7 L« 12& 45,360
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